BT TRIA O - HEHHEE X T Eﬁﬁiﬁfﬁmﬁ KIRHE
- I:I - 3 I:I
BT T2 | MR T8 T = BT T2 | MR8 T =%
HRX 37,433 87,162 41,758 45,404
RIRET1T 4 11 5 6
RIRET2T 25 57 28 29
RIRET3T 114 385 187 198
RIRET4T 388 1,013 494 519
B 531 1,466 714 752
REH 2,609 6,338 2,981 3,357
L&A 4,125 9,621 4,612 5,009
5E 2,442 5,946 2,881 3,065
B AN 1,216 2,842 1,342 1,500
BERT 1,006 1,631 786 845
BER2T 751 1,472 692 780
BHERST 683 1,389 671 718
g 2,440 4,492 2,149 2,343
BARE 247 656 329 327
= 2,140 5,248 2,472 2,776
hERE 597 1,487 682 805
e 2,258 5,150 2,501 2,649
25 L ET 2,246 5,347 2547 2,800
B &AL BT 72 165 68 97
HEFILET1T 590 1,336 626 710
HEFILET2T 593 1,389 666 723
HEZFILAT3T 575 1,373 671 702
g 1,830 4,263 2,031 2,232
B & it B Fr ET 634 1,558 762 796
BHEREBET1T 609 1,269 605 664
BHERERET2T 733 1,725 851 874
BHERERETST 779 1,751 814 937
HEFMHET4T 470 1,074 520 554
HEHFMHETST 776 1,674 799 875
HEHFHET6T 826 1,978 952 1,026
HEFRET7T 856 2,051 987 1,064
HERERETST 49 146 68 78
£t| 5098 11,668 5,596 6,072
HEF R FET 1,764 3,940 1,920 2,020
S|EFET1T 567 1,534 775 759
S|EFET2T 744 1,824 880 944
S|EFET3 T 740 1,522 732 790
g 2,051 4,880 2,387 2,493
ERE1T 545 1,343 643 700
EIRET2T 299 744 364 380
EREIST 452 1,298 633 665
EIRETAT 671 1,565 739 826
EIZEIST 460 962 480 482
g 2,427 5,912 2,859 3,053
MEH 2,670 6,118 2,891 3,227
J\THET1T 25 27 5 22
J\THET2T 25 66 33 33
J\THEI3T 58 137 64 73
B 108 230 102 128
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